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IDENTIFICATION
Product Code: AC=-A8808-MC
Product Name: CvIBABO IBV11-A DIAG
Date : FEB 1983
Maintainer: Ray Shoop

Copyright (C) 1978,1983
Digital Equipment Corporation, Maynard, Mass.

This software is furnished under a license for use only on a
single computer system and may be copied only with the inclusion
of the above copyright notice. This software, or any other
copies thereof, may not be provided or otherwise made available
to any other person except for use on such system and to one who
agrees to these Llicense terms. Title to and ownership of the
software shall at all times remain in DEC.

The information in this document is subject to change without
notice and should not be construed as a commitment by Digital
Equipment Corporation.

DEC assumes no responsibility for the use or reliability of its
software on equipment which is not supplied by DEC.
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ABSTRACT

This program allows the user to check-out a xrutor ?ortion of
logic on this option if a second IBVI1-A is available. See
section 2.1. When a sec IBV11=A can be obtained, the user
must inform this diagnostic to exercise the Logic on one IBVI1=A
that requires a KGM (Known Good Module). Please note that t
second 1BV11=A_ should be known good. When a KGM is available,
the "ER1=INHIBIT SWITCH' on the module under test should be
CLEARED (OPEN=OFF). No attempt is made to checkout the KGM and
no conclusion that if good passes are made through _this
diagnostic that the KGM 1is also good. Signals 'SRA™, "ER1

i led“ ER1IHB'’ are not tested on the IBVI1-A if a KGM is
not used.

If the user is unfamilar with an LSI=11 he should review sections
8.4 and 8.5. A software switch register is included with this
program.

Every effort was made to make this grogra conform to LSI-11
9"1:9;:?;113 restrictions. However, the user should read sections

REQUIREMENTS

Equipment

1. PDP-11 Family Computer with &K of memory (or more) and
console 170 facilities (i.e., TTY).

2. IBV11-A under test.

3. .(Opti.oml) Second IBV11=-A 'XGM'* (known good module). The
XGM'* must have an intrumentation Bus Cable between it and
the first IBv=11. Its base address should be 760160 and
vector address of 660 (see section 3.2 if different).

NOTE
While it is generally recommended that a
X ] if one 1is available,
*0900001° into location
st will be qerfomd that
if $CDW1 is zero.
Storage

This program occupies and uses the lower 4K of memory.

SEQ 0003
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3.0 LOADING PROCEDURE

3.1

3.2

Method
Standard procedure for normal binary tapes should be followed.
The program can also be Loaded by XXDP, ACT or APT.

Non-Standard Address., Vector, or Use of Software Switch Register

This program is set to test a IBV11-A with a standard address and
vector. If any of these are different on the IBVI1-A you are
westing, change the corresponding location in memory before
starting this test.

CURRENT
TAG ADDRESS CONTENTS COMMENTS

$BASE: 1244 760150 3 .BA"%EADDRESS OF EQUIPMENT

TEST
SVECT1: 1240 20 ;s INTERRUPT VECTOR #1
SWREG: 176

sMANUAL SUR.
18S2: 1402 760160 : ADDRESS OF SECOND IBV11-A,
VECTA2: 1406 000660 : VECTOR ADDRESS OF SECOND IBV11-A.

$COW1: 1250 000000 %gEVIC DE.;»CRIP!OR WORD #1
-
‘KGM'* in testing 1st IBV=11)
(Default = 00000 to disable
use of KGH in tests.
1216 000010 ::TYPE OF Sgo
(DEFAULT = 00010 INDICATE PDP=11/03)

(REF. SECTION 5.2 FOR LIST OF CODES)

A. LT oic

$CPUOP

SEQ 0004




F 1

Page §

4.0 STARTING PROCEDURE

4.1 Control Switch Setting

Before starting the diagnostic, set all switch register bits as
desired. Snngection S.1. v

‘.2

4.3

Starting Addresses
200 Start of Logic Tests

Program and/or Operator Action

1.
2.
3.

b

5.

Load program into memory.
Enter keyboard ‘ODT'’.

Alter location '‘SWREG'' to reflect desired options of a switch
register - See section 5.1.

Alter Llocation °‘SCPUOP'" to reflect current cpu type
code - See section 5.2.

Type starting address, followed by '‘G'' to start program.

SEQ 0005




5.0 OPERATING PROCEDURE

S.1 Switch Register Function
SWR BIT OCTAL FUNCTION WHEN SET

15 100000 HALT ON ERROR

Td 040000 LOOP ON TEST

13 020000 INHIBIT ERROR TYPEOUT

n 004000 INHIBIT ITERATIONS (SHORT PASS)

10 002000 INDICATE ‘ER1=-INHIBIT'' SWITCH (S1-8) IS
SET (CLOSED-ON)

09 001000 LOOP ON ERROR

08 000400 LOOP ON TEST IN SWR <7:0>

NOTE

The Switch Register may be changed at
any time while the diagnostic is running
by typing ‘G'’.

5.2 Cpu Type Code Function
PDP-11/04

01
02 PDP-11/05
03 PDP-11/20

11/

—h i e b b = =2 DO O

5.3 Scope Loops

1f an error occurs and the user wishes to scope the error,

*SWREG'’ should be altered to ‘100000
halt on error, then when the program halts on error
enters 'ODT*’, ‘‘SSWREG'' should altered to

** at the start of the test to

the CPU

'* to Loop on

current test and inhibit error typeout, then type ‘P'’ to continue

program execution.

SEQ 0006
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Program and/or Operator Action
1. When the program is initially started it will type:
CVIBA-B
SWR=000000 NEW=
Progra now waits for the rator to enter a switch register
setting (see section 8.6). To change the switch register
setting, see section 8.6.

3. Program executes first ss of logic tests, subtest
i::gatims inhibited. e -~

4. Program reports any errors it detects.
S. Program reports 'END PASS 1.

6. Program executes second pass of logic tests, only this time
imill Loop on each tcs't”ZOOO tizs. d

7. Program the reports ‘END PASS 2'°.
8. Program will continue executing steps 6 and 7 until stoped.

ERRORS

Error Printout

Printout varies with the error detected. The error PC typed out
is the actual location of the error call.

Non=Standard Error Halt

Bus errors will cause a Ha

it in
that caused this trap will be i

 the tine “JOTRD". The address

r
RTO",

SEQ 0007
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7.0 RESTRICTIONS
7.1 Starting Restriction
It a free-running clock, puch as 60Hz from the gouo uppl is
attached to the °'BEVNT' bus Line on bo h REV Llevel C/D and E
qestens. an intorrupt to location 100 will occur wh en using t
and ‘L'’ commands prior to executing the first instruction.
Therefore this program can not disable the BEVNT bus Lline by
inhibiting interrupts.
User s¥ste-s requiring a free=running clock attached to the BEVNT
bus can temporarily avoid this situation by setting the
PSU(RS) to 200. looding the PC with tho startiaa address instead
of usi the. G’ ¢ and then usi Before
ng ' connand ﬁc PSW(RS) can set to 200. thereby
inhi itoga interr to avoid receiving the event interrupt
after loading the s [oader.
7.2 Possible Program ‘BOMBS'’

The first two tests of this program check to see if the IBVI1=-A
responds to the address the program thinks its at. If the
I8V11=A does not respond, a bus error occurs.

For more information on the next subject, see JAN. 1976 LSI-11
engineering bulletin issued by the Digital Components Group.

Bus errors may alter the preset contents of locaton 4 before the

trap is executed, thereby trans erring progran control to area in

the program that was not set to handle the trap, If this

?:ppt?s. the program will ’ * and possibly rewrite parts of
@

7.3 Customer Devices

No customer devices should be connected to the unit under test
while executing the program.
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8.0 MISCELLANEOUS

8.1

8.2

8.3

Power Fail
After a power failure occurs, the program execution will continue
at tgs point where the power occurred. The program will type

XXDP, ACT, APT

The progran is chainable under XXDP, ACT, or APT. Although °‘'APT
HOOKS'* have been installed, they have not been tested.

Execution Time
PDP=-11/703 CPU WITH ONLY 1 BOARD

0.1 Minutes (6 sec) Iteration Inhibited = No Errors
0.5 Minutes (30 sec) With Iterations = No Errors

PDP=11/703 CPU WITH KGM AND 1 BOARD
1.4 Minutes (80 sec) With Interations - No Errors

1

SEQ 0009
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8.4 LSI-11 'ODT** Commands

8.5

FORMAT
<CR> RETURN
<LF> LINE FEED

“(UPARROW)
< (LEFT ARROW)

a0/
/
$N/ or RN/

R:G or RG
NL

:P or P
RUBOUT

DESCRIPTION

Close opened Llocation and accept next
command.

Close current location; open next sequential
location.

Open previous location.

Take contents of opened location, indexed by
contents o ., and open that location.

Take contents of ogonod location as absolute
address and open that location.

Open the word at location R.
Reopen the last location.

Open general register N(0-7) or S(PS
register).

GOTO location R and start program.

Execute Bootstrap loader usina N as device
CSR. Console device is 1775

Proceed with program execution.

Erases previous numeric character. Response
is a backslash ().

Entering LSI-11 ‘'ODP7’

The halt or ODT microcode state of the KD11F (LSI-11 module) can
be entered in five different ways (others are a subset of these)

from the run state:

1. Execution of a LSI=11 halt instruction.
2. A double bus error.

3. As a power up option.
4. ASCI! break with DLV11 franine error asserting the B halt

Line (enabled

Ubon enterin?‘

by jumper of D

the halt statc. the KD11F responds through the set
ted in section 8.4. o~

SEQ 0010
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8.6 Use of Program Software SWR

8.7

The software switch register may be chan?ed b‘ typin? 46 (control
and letter G ke‘s typed simultaneously). When *G is typed, the
program responds by typing °'‘SWR=XXXXXX'® where XXXXXX equals the
former contents of the switch register.

1f wish to k the current value, type <CR>. If you wish to
chazgg the valuof.gypo the new value fol{oucd by a <CR>.

It is important to note that the diagnostic is not running after
the “G until a <CR> is typed.

Trap Catcher

The Trap Catcher in this diagnostic engloys a new concept. This
concept will enable the user of this diagnostic to gain more
knowledge of the events that Lead the program to this area.

The Trap Catch consists of PC+2 and JSR PC,RO. (i.e., Location
300 would contain 302 and location 302 would contain 4700).

when a device interrupts to the Trap Catcher, it would pick up

the PC+2 of the trap as an address of the interrupt service
routine.

The program would then pick up ‘%700 as the new PSW. Bit 7 of
the new PSW having been set, would cause further interrupts from
hapg:ni . When the CPU attempts to execute °°4700'' (JSR PC.R0)
a Bus-time-out trap will occur to location 4. Location
contains a pointer to ‘IOTRD'', a routine that will report the
trap as an error.

To guard against "Real’’ Bus errors routing us through location &
to ''IOTRD™, we check to see if the trap that brought us to
location 4 really came from the Trap Catcher area. If not we'll
halt and leave the Trap Address in "‘TRTO".

More about the interrupt error can be found in the description of
the error in the program Listing in the routine ‘‘IOTRD"'.

SEQ 0011




CVIBA=B MACY11 (1063) 25-FEB-83 08:23
1 ngl 09:29

CVIBAB.P1 TABLE OF CONTENTS SEQ 0012
14 OPERATIONAL SWITCH SETTINGS
16 TRAP CATCHER
BASIC DEFINITIONS
ACT11 HOOKS
APT PM?ER BLOCK
COMMON T

APT HAILNX-EMBLE

ERROR POINTER TABLE

REG ADDRESS AND COMMON TAGS
PROGRAM START

INITIALIZE THE COMMON TAGS
NAME

TYPE PROGRAM
GET VALUE FOR SOFTWARE SWITCH REGISTER
*TEST THE ADDRESSABILITY OF THE 1B8S, 18D REGISTERS

BINR NSNS S0 uvs

rz «TEST THAT BASE ADDRESSES +4,+6 RESPOND WHEN ADDRESSED
3 «TEST THAT IBS IS CLEAR AT INIT OF TESTING
T4 «TEST THAT 18D IS CLEAR AT INIT OF TESTING
15 «TEST THAT BASE ADDRESSES +4, +8onerum ZERO WHEN READ
16 «TEST THAT WE CAN SET rcs (BIT ). TCS SETS CMD (BIT10)
415 17 *TEST THAT EOP (BIT01) W
436 110 «TEST THAT REM (BI1T02) mu. ssr + CI.EAR
458 ™™ «TEST THAT IBC (BITO3) WILL SET AND CLEAR
481 T12 «TEST THAT TON (BITOS) AND TKR mm) SET AND CLEAR
504 113 «TEST THAT LON (BIT04) WILL SET AND CLEAR
523 1% «TEST THAT IE (BIT06) SET AND CLEAR
548 15 «TEST THAT ACC (BITO7) CAN BE SET AND CLEARED
570 T16 « TEST THAT SRQ (BIT15) CAN BE SET AND CLEARED (IF SWR10=1)
620 T17 «TEST THAT 18D BIT O CAN BE SET + CLEARED
622 120 «TEST THAT 18D BIT 1 CAN BE SET + CLEARED
624 F4 «TEST THAT 18D BIT ; CAN BE SET + CLEARED
626 122 «TEST THAT 18D BIT 3 CAN BE SET + CLEARED
628 123 «TEST THAT 18D BIT & CAN BE SET + CLEARED
630 124 «TEST THAT 18D BIT S CAN BE SET + CLEARED
632 125 «TEST THAT 18D BIT s CAN BE SET + CLEARED
634 126 «TEST THAT 18D BIT 7 CAN BE SET + cheo
637 r% «TEST THAT NO DATA ogns XFERRED T ENABLED
95 1 «TEST 1BD-DAC (BITO08) AND IBD=D Iw (snoo) CAN GE SET + CLEARED
% 31 «TEST THAT IBD = REN SETS WHEN IBS = REM SETS, ALSO TEST CLEAR
748 rsg «TEST THAT IBD = IFC SETS WHEN as - 1B8C SETS. ALSO TEST CLEAR
751 13 «TEST THAT 1IBD = ATN SETS WHEN IBS = TCS SETS, ALSO TEST CLEAR
754 3% «TEST THAT 18D = EOI SETS WHEN IBS - EOP SETS, ALSO TEST CLEAR
758 135 +TEST THAT IBD=-SRO SETS WHEN IBS=-SRQ SETS, ALSO TEST cma (IF SWR10=1)
779 139 «TEST THAT RFD SET WHEN CSR CI.EAR. CLEAR WHEN ACC SET
797 13 «TEST THAT WE CAN GENERATE AN ER2
811 140 «TEST THAT BUS INIT CLEARS ACC TON,LON,REM,EIP,TCS
822 141 «TEST 1BC CLEARS ACC,TON,LON,REM AND EOP
834 142 «TEST THAT BUS INIT INDIRECTLY CI.EARS 180
ﬁ INTERRUPT TESTS
aig 143 «TEST THAT CMD CAN GENERATE AN INTERRUPT
37 T4k «TEST THAT TKR AND LNR CAN GENERATE INTERRUPTS
25 145 «TEST THAT ER2 CAN GENERATE AN INTERRUPT
% T46 «TEST THAT SRO CAN GENERATE AN INTERRPUT (SWR10=1)

981 SECOND MODULE TESTS




CVIBA-B MACYT (1063) 25-FEB-83 08:23

CviBas.P1 1 C%g 09:3;' TABLE OF CONTENTS SEQ 0013
984 147 «TEST THAT MODULE PASSES "l“l"
1021 150 «TEST THAT SRQ CM GENERATE AN T
1 151 «TEST THAT ERROR 1 IS GENERATED lf ATN IS ON THE 1B BUS
1068 15 «TEST THAT ERROR 1 IS GENERATED IF IFC IS ON I8 BUS BY SECOUND MODULE
1083 15 «TEST THAT ERROR 1 IS GENERATED IF IEN 1S ON IB BUS
1098 154 *TEST THAT AN ERROR 1 CAN GENERATE AN INTERRUPTY
1135 155 «TEST THAT DATA CAN BE XFERRED BETWEEN THE MODULE UNDER TEST AND THE KGM
1162 156 «TEMP END OF TESTS
1164 SYSMAC ROUTINES:
1165 END OF PASS noumt
1168 ERROR MANDLER ROUT INE
1169 Em MESSAGE TYPEOUT ROUTINE
1170 SCOPE HANDLER ROUTINE
1n TTY INPUT ROUTINE
1173 BINARY TO OCTAL (ASCII) AND TYPE
1175 CONVERT BINARY TO DECIMAL AND TYPE ROUTINE
11;? TYPE ROUTINE
n APT COMMUNICATIONS ROUTINE
1179 POWER DOWN AND UP ROUTINES
1255 TRAP DECODER

(3) TRAP TABLE

1257 MESSAGES AND TABLES
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CVIBAB.P11  13-DEC-82 09:29 SEQ 0014
1 LNLIST MC,MD,CND
% LIST  ME
JENABL ABS
A .:mni BHA
}? 165400 $SWR=165400
12 .TITLE CVIBA-B
(1) :«COPYRIGHT (C) 1983
(1) :«DIGITAL EQUIPMENT CORP.
8; ;#MAYNARD, MASS. 01754
g; E:mocm BY EDWARD C. BADGER MOD BY R. SHOOP
1) *«THIS PROGRAM WAS ASSEMBLED USING THE PDP-11 MAINDEC SYSMAC
m ; *PACKAGE (MAINDEC=11-DZQAC=CS), JAN, 1981.
q% 000001 $TN=1 -
(}4). SBTTL  OPERATIONAL SWITCH SETTINGS
ﬂ; E: SWITCH USE
1) 1 15 HALT ON ERROR
1) Ta 1% LOOP ON TEST
(1) T 13 INHIBIT ERROR TYPEOUTS
(1 e 1 INHIBIT ITERATIONS
(1) e 10 INDICATE ‘EM1=-INHIBIT** SWITCH IS SET (CLOSED=ON)
(1) e 9 LOOP ON ERROR
q; v 8 LOOP ON TEST IN SWR<7:0>
}9 .SBTTL TRAP CATCHER
18 000000 .=0
19 :ALL UNUSED LOCATIONS FROM 4=776 CONTAIN A *',+2""
20 *«AND ''JSR PC,RO'* SEQUENCE TO CATCH ILLEGAL INTERRUPTS,
21 :«AND INTERRUPTS TO THE WRONG VECTOR.
22 *«LOCATION O CONTAINS A O TO CATCH IMPROPERLY LOADED
23 :+VECTORS
w5 000004 =
;l; 000004 863123 000200 .211:23 I0TRD, 200 :HANDLE BUSS ERROR.
39 000140 170000 000300 irogoo.soo ;FALCON CPU FIX
000174 =174
38 000174 000000 DISPREG: . WORD 8 : :SOFTWARE DISPLAY REGISTER.
23 000176 388‘1’“66 SWREG: .u%g :“SOFTWARE SWITCH REGISTER.
o=
41 000100 000104 000200 000002 "WORD  104,200,2 :1F "B EVENT'* ON Q=-BUS IS
42 *CONNECTED, WE NEED A WAY OF
43 000200 .=200 SIGNORING 1TS INTERRUPTS.
2; 000200 000137 001460 NP START
‘41.? .SBTTL BASIC DEFINITIONS
(1 s«INITIAL ADDRESS OF THE STACK POINTER w#x 1100 ww+
1) 001100 STACK= 1100
(1 .EQUIV EMT,ERROR ::BASIC DEFINITION OF ERROR CALL
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BASIC DEFINITIONS

.EQuUIV 10T,SCOPE

s *MISCELLANEOUS DEFINITI
HT= 1

LF= 12

CR= 15
CRLF= 200
PS= 177776

LEQUIV PS,PSVW
STKLMT= 177774

70
DDISP= 177570

c 2

;:BASIC DEFINITION OF SCOPE CALL

ONS

:;CODE FOR HORIZONTAL TAB

:sCODE FOR LINE FEED

::CODE FOR CARRIAGE RETURN
::CODE_FOR CARRIAGE RETURN-LINE FEED
: sPROCESSOR STATUS WORD

:sSTACK LIMIT REGISTER

: ;PROGRAM INTERRUPT REQUEST REGISTER
: sHARDWARE SWITCH REGISTER

: sHARDWARE DISPLAY REGISTER

"GENERA%OPURPOSE REGISTER DEF INITIONS

s ;GENERAL REGISTER

'tPRIORIBY LEVEL DEFINITIONS

::PRIORITY LEVEL 0
::PRIORITY LEVEL 1
::PRIORITY LEVEL
s:PRIORITY LEVEL
::PRIORITY LEVEL &
::PRIORITY LEVEL S
::PRIORITY LEVEL
::PRIORITY LEVEL

;#"'SWITCH REGISTER'® SWITCH DEFINITIONS
100000

RO=

R1= 11
R2=
R3= %
Ré= 7
RS= 5
R6= 16
R7= 17
SP= %6
PC= 17
PRO=

PRI= 40
paia }
PRi= 200
g
mgs 00
PR7= 340
$W15=

SWik= 40000
sWi3= 20000
sWw12= 10000
sWil= &
SWi0= 2
sW09= 1000
sW08= 400
I
sW0S5= 40
SWié= 20
SW0 10
SW02= &
SWo1= i
SW00=

.EQUIV SW09,Sw9
.EQUIV o Hs
.EQUIV SW07,SW

£
oo

SEQ 0015
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CVIBAB.P11 BASIC DEFINITIONS SEQ 0016
() LEQUIV SW0o,S
(1) -EQUIV sggg.su
(1) "EQUIV  SWO0&. SWé
(1) JEQUIV S z.su
) ‘Ea0lV 07 Sui
m "EQUIV SW00,SWO
(1) -«DATA BIT DEFINITIONS (BITOO TO BIT1S)
H 00000 b= 1
-
() 020000 8IT13= 20000
(1 010000 BIT12= 10000
(1) 004000 BIT11= 4000
1} 002000 BIT10= 2000
(1 001000 BIT09= 1000
(1) 000400 BITO8= 400
1) 000200 BITO7= 200
(1) 000100 BIT06= 100
1) 000040 BITOS= 40
1) 000020 BIT04= 20
M) 000010 8IT03= 10
() 000004 BIT02= &
(1) 000002 8IT01= 2
(1 000001 8IT00= 1
(1) .EQUIV BIT09.8IT9
) "EQUIV BIT08.BIT
(1 EQUIV BITO7.BIT
(N .EQUIV BIT06.BITé
(1) "EQUIV BITO0S.BITS
(1) "EQUIV BITO04.BIT
(1) "EQUIV BIT03.BIT3
(1) "EQUIV BIT02.8IT2
(1) "EQUIV BITO1.8IT1
g; "EQUIV BIT00.BITO
(1) +«BASIC *'CPU"* TRAP VECTOR ADDRESSES
(1 000004 ERRVEC= 4 ::TIME OUT AND OTHER ERRORS
(1 000010 RESVEC= 10 : RESERVED AND ILLEGAL INSTRUCTIONS
(1 000014 TBITVEC=14 ST BIT
(1) 000014 TRTVEC= 14 :STRACE TRAP
(1 000014 BPTVEC= 14 : “BREAKPOINT TRAP (BPT)
M 000020 10TVEC= 20 : S INPUT/OUTPUT TRAP (IOT) #+SCOPE++
(1) 000024 PWRVEC= 24 ::POWER FAIL
(1 000030 EMTVEC= ::EMULATOR TRAP (EMT) *+ERROR®+
(1) 000034 TRAPVE C=34 ::"TRAP'’ TRAP
(1) 000060 TKVEC= 60 SSTTY KEYBOARD VECTOR
(1) 000064 TPVEC= S:TTY PRINTER VECTOR
(2 ; 000240 PIRQVEC=240 : *PROGRAM INTERRUPT REQUEST VECTOR
<R 160150 ABASE= 160150
49 000420 AVECT1= &
50 000200 APRIOR= 2
51 000010 ACPUOP= 10
g 000001 $TN=1
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CVIBAB.P11 T11 HOOKS SEQ 0017
"s;. JSBTTL ACT11 HOOKS
(2) 33 tttt'it'ttttﬁttttittttttttttttlt.QQQt'ttttttttt*ttttttttttttttt
M :HOOKS REQUIRED BY ACT11
(1) 000204 $SVPC=, :SAVE PC
(1) 000046 =46
a ; 000046 010023 iersagm :21)SET LOC.46 TO ADDRESS OF SENDAD IN .SEOP
0000 =
(1) 000052 000000 WORD O :32)SET LOC.52 TO 2ERO
(; ; 000204 .=$SVPC 3 RESTORE PC
gg 001000 .=1000
(% .SBTTL APT PARAMETER BLOCK
(2) 32 ttttttttttttt.tttﬁttttt't'it'tttttttttttttttttttt..tttttt't'tt'
) SSET LOCATIONS 26 AND 44 AS REQUIRED FOR APT
(2) P L L LRt T L T L b bibirbbttiihbbbbbb b b LU AL L LU L AL L
a) 001000 JSX=. ::SAVE CURRENT LOCATION
(1) 000024 =24 ::SET POWER FAIL TO POINT TO START OF PROGRAM
(1) 000026 000200 200 :3FOR APT START UP
(1) 000044 .=k  ::POINT TO APT INDIRECT ADDRESS PNTR.
(1) 000044 001000 $APTHDR ::POINT TO APT HEADER BLOCK
1) 001000 .=.8X ::RESET LOCATION COUNTER
(2) 22 ttttttttttttitttttttt.ttt't..ltttttttttttttttttttttttttt'tttttt
(1N *SETUP APT PARAMETER BLOCK AS DEFINED IN THE APT=PDP11 DIAGNOSTIC
g ; : INTERFACE SPEC.
(1) 001000 SAPTHD:
(1) 001000 $SHIBTS: .WORD 0 ::TWO HIGH BITS OF 18 BIT MAILBOX ADDR.
(1) 001002 001170 SMBADR: .WORD SMAIL ::ADDRESS OF APT MAILBOX (BITS 0=15)
(1) 001006 000074 $TSTM: .WORD  60. S:RUN TIM OF LONGEST TEST
(1) 001006 000170 SPASTM: .WORD 120.  ::RUN TIME IN SECS. OF 1ST PASS ON 1 UNIT (QUICK VERIFY)
(1) 001010 000170 SUNITM: .WORD 120.  ::ADDITIONAL RUN TIME (SECS) OF A PASS FOR EACH ADDITIONAL UNIT
(} % 001012 000031 "WORD SETEND=-SMAIL/2 ;:LENGTH MAILBOX=-ETABLE (WORDS)
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1 C 09:29 COMMON TAGS

CVIBAB.P1 SEQ 0018

(9)) .SBTTL COMMON TAGS

(2) ;;ttttttttttttttttttttttttttttttt'tttttt'ttttttttttt'tttttlttt't.
51 S*THIS TABLE CONTAINS VARIOUS COMMON STORAGE LOCATIONS

m SeUSED IN THE PROGRAM.

1) 001100 .=1100

(1) 001100 $CMTAG: ::START OF COMMON TAGS

(1) 001100 000000 WORD O

(1) oo11o§ 000 $STSTNM: .BYTE 0 ;CONTAINS THE TEST NUMBER

(1) 00110 000 $ERFLG: .BYTE 0 :CONTAINS ERROR FLAG

(1) 001104 000000 $ICNT: .WORD O :CONTAINS SUBTEST ITERATION COUNT
(1) 001106 000000 SLPADR: .WORD 0 ::CONTAINS SCOPE LOOP ADDRESS

(1) 001110 000000 SLPERR: .WORD 0 ::CONTAINS SCOPE RETURN FOR ERRORS
(1) 001112 000000 SERTTL: .WORD O :3CONTAINS TOTAL ERRORS DETECTED
(1) 001114 000 SITEMS: .BYTE 0 ::CONTAINS ITEM CONTROL BYTE

(1) 001115 001 SERMAX: .BYTE 1 ::CONTAINS MAX. ERRORS PER TEST
(1) 001116 000000 SERRPC: .WORD O :CONTAINS PC OF LAST ERROR INSTRUCTION
(1) 001120 000000 $GDADR: .WORD 0 ::CONTAINS ADDRESS OF °‘GOOD® DATA
(1) oongz 000000 $BDADR: .WORD 0 ::CONTAINS ADDRESS OF °*BAD® DATA
(1) 00112¢ 000000 $GDDAT: .WORD 0 :CONTAINS °*GOOD*

(1) oongg 000000 $BDDAT: .WORD O ::CONTAINS °*BAD® DATA

(1) 001130 000000 JWORD O : SRESERVED=--NOT TO BE USED

(1) 001132 000000 -WORD 3

(1) 001134 000 SAUTOB: .BYTE :sAUTOMATIC MODE INDICATOR

(1) 001135 000 SINTAG: .BYTE 0 % ; INTERRUPT MODE INDICATOR

(1) 001136 000000 JWORD O

(1) 001140 177570 :  .WORD DSWR ;:sADDRESS ©F SWITCH REGISTER

(1) 001142 177570 DISPLAY: .WORD DDISP ::ADDRESS OF DISPLAY REGISTER

(1) 001144 177560 $TKS: msgg :3TTY KBD STATUS

(1) 001146 177562 $TKB: 1775 $:TTY KBD BUFFER

(1) 001150 177564 $TPS: 177564 $STTY PRINTER STATUS REG. ADDRESS
(1) 001152 177566 $TPB: 177566 $STTY PRINTER BUFFER REG. ADDRESS
(1) 001154 000 SNULL: .BYTE g :3CONTAINS NULL CHARACTER FOR FILLS
(1) 001155 002 SFILLS: .BYTE ::CONTAINS # OF FILLER CHARACTERS REQUIRED
1) oons? 012 $SFILLC: .BYTE 12 ::INSERT FILL CHARS. AFTER A 15 '55'3
(1) 00115 000 $STPFLG: .BYTE O *:"TERMINAL AVAILABLE'' FLAG (BIT<07>=0=YES)
(1) 001160 000000 STIMES: SiMAX. NUMBER OF ITERATIONS

(1) 001162 oooogg $ESCAPE: ::ESCAPE ON ERROR ADDRESS

(1) 001164 0 SQUES: .ASCII /2/ :SQUESTION MARK

(1) 001165 015 SCRLF: .ASCII <15 *CARRIAGE RETURN

(1) 001166 000012 $LF:  .ASCIZ <12 ::LINE FEED

(2) 32 t.t.tttttttttttt.ttttt.ttt'ttitit'.ttt"ittt.tttttttittttQ.ttttt
83 "SBTTL APT MAILBOX~-ETABLE

(3) ;éttttttttlQtt..t.ttttt't"t'ttt"tttttttt..ttt'.ttt.tt.t'tt.tt.t
(2) "EVEN

(2) 001170 SMAIL : ::APT MAILBOX

(2) 001170 000000 SMSGTY: .WORD AMSGTY ::MESSAGE TYPE CODE

(2) 001172 000000 SFATAL: .WORD AFATAL ::FATAL ERROR NUMBER

(2) 001174 m STESTN: .WORD ATESTN ::TEST NUMBER

(2) 001176 SPASS: .WORD APASS  ;:PASS COUNT

2) oolggo 000000 $DEVCT: .WORD ADEVCT ;:DEVICE COUNT

(2) 001202 000000 SUNIT: .WORD AUNIT  ::1/0 UNIT NUMBER

(2) 001204 000000 SMSGAD: .WORD AMSGAD ::;MESSAGE ADDRESS

(2) 001206 000000 $MSGLG: .WORD AMSGLG ;:;MESSAGE LENGTH
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(1063) 25-FEB-83 08:23 PAGE 1-5 g
E\ﬁﬁ?ﬁﬂ“W cggz 09:29 APT MAILBOX=-ETABLE
(2) 001210 SETABLE: .:e:v lemmnamerme
(S) 0151 0% gsmn\\:n B‘J}E Re‘% EEE'MM‘M MODE BITS
‘23 88} H 900 $SWREG: .WORD  ASWREG ::A;"sgﬁcoci nggexsm
& 88%212 000010 g‘c’msm. me° :gmsm bilc'ru ;wﬁ'o:‘t’ms
{g; fe . 3 'mm 11/05202,11/20=03, 11/40=04 ,11/45=05
§z§ ::: T1 ‘1{ nm‘?sc'w -
8 ' Bl 1O OTING POINT PROCESSOR
& sy L1 SAERORY FAAGERENT
) 001220 000 1: .BYTE i " - Bl.il‘i "
8) 001221 000 SATYP1: (BYTE  ANTYPI “ﬁ' pg Psfe N Sae S
) 1 NSEC CORE=001
) ‘e NSEC BIPOLAR=002
(53 1 00 vscge& 33-001 3
fz) 001222 000000 g\ml: JLORD  AMADR1 ::r‘lgj “%2‘.’.‘3 '.',,',?E""" 20 Low & upe
&) $mams2: AMANS2  ;;HIGH ADD .S. -
8 g 0% SMTYP?2: 'gﬂg AMTYP2 ::MEM. TYPE ,BLKA2
8) s oooooo°°° SMADR2: .WORD AMADR? ;:MEM.LAST ADDRESS,BLK#2
() 1558 SMAMSS: .BYTE AMAMSS ::WIGH ADDRESS.M.S.BYTE
52; %}g‘l’ 383 SMTYP3: .BYTE AMTYP ::a.m‘; 6L ougss mass
é, 00153 2°%%0¢ : BYTE AMAMSA ::MIGH ADDRESS n.sime
83 33} §§ % SMTYP4: .BYTE AMTYP ::ﬂ.m;.%gg
) 0152 90003 bopret s Sl B e vectoni Sos PRIRITVAY
(5’ 001543 80 SVECT2: .WORD AVECT2 ::INTERRUPT VECTOR#2BUS PRIORITY ]
() 001574 160150 SBASE: .WORD  ABASE :.wgceoazgss OF EQUIPMENT UNDER TES
¢§, 001550 900000 %255’1‘: -“..3."3 2%55'1‘ ::Eﬁmm DESCRIPTION WORDA1
¢§> 001250 000000 scovl:
52; e JMEXIT
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CVIBAB.P‘HC 1 ngg 09239 it ERROR POINTER TABLE SEQ 0020

g g .SBTTL ERRUR POINTER TABLE

(1) s#THIS TABLE CONTAINS THE INFORMATION FOR EACH ERROR THAT CAN OCCUR.

(1) t«THE INFORMATION IS OBTAINED BY USI ns THE INDEX NUMBER FOUND IN

1) -Locmon msna. THIS NUMBER INDICATES WHICH ITEM IN THE TABLE IS PERTINENT.

1) S eNOTE1: IF SITEMB IS O THE ONLY PERTINENT DATA IS (SERRPC).

8 ; : eNOTE2: EACH ITEM IN THE TABLE CONTAINS 4 POINTERS EXPLAINED AS FOLLOWS:

1) * m ;:POINTS TO THE ERROR MESSAGE

(1) : DH ::POINTS TO THE DATA HEADER

(1) tw 0T ::POINTS TO THE DATA

g; I DF ::POINTS TO THE DATA FORMAT

(1)

(1) 001252 SERRTB:

64 SITEM 1

65 001252 013256 Em1 :18S _FUNCTION ERROR

66 001256 014401 DH1 STEST ERRPC 1B ADDR

67 001256 01460 pT1 *STESTN,SERRPC , I8S

gg 001260 01465 '-";?m . SALL NUMBERS ARE IN OCTAL FORM.

70 001262 013304 EM2 ;18D FUNCTION ERROR

71 001264 014401 DH1 STEST  ERRPC 1B ADDR

72 001266 014602 DT1 msm SERRPC, 18S

;2 001270 014652 o;gm . L NUMBERS ARE IN OCTAL FORM.

75 001272 O1 333; EM3 .ms DATA ERROR

76 001274 01444 DH3 STEST ERRPC GOOD  BAD

77 001276 014616 DT3 sresm.semc $GDDAT, SBDDAT

773 001300 014652 o;gm : L NUMBERS ARE IN OCTAL FORM.

80 001302 013354 EM4 ;18D DATA ERROR

81 001304 014447 DH3 sTEST ERRPC GOOD  BAD

82 001306 014616 DT3 sresm sémc $GDDAT , SBDDAT

gz 001310 014652 m;gm ) L NUMBERS ARE IN OCTAL FORM.

85 001312 013376 EH5 msnao ADDRESS ERROR

86 001314 014504 DH5 STEST  ERROR rc ADDRESS

87 001316 014630 D15 SSTSTNM, SERRPC,

gg 001320 014652 '-";(r’en . SALL NUMBERS Ais IN OCTAL FORM,

90 001322 013426 tug -xaucnm om ERROR

o1 001324 014447 DH GOOD  BAD

92 001326 omtg T3 sresm semc $GDDAT, S8DDAT

g‘s 001330 01465 °§?zn g L NUMBERS ARE IN OCTAL FORM.

95 001332 omss EmM7 ‘ -mnwr ERROR

99 001334 014535 DH? STEST ERRPC 1O FROM ADDR.

97 001336 014640 DT? TSTNM, #ERRPC, TRTO, TRFRO

33 001340 014652 + Mg *ALL NUMBERS ARE IN OCTAL FORM.

100 001342 013477 014447 014616 tms.ons.ors.oro :POSSIBLE =YA VARIATION ERROR

101 B ITEM 1

102 001352 014 ogs 014447 014616 EM11,DH3.D73,0F0 :POSSIBLE 'ER1=INH"* SWITCH ERROR
001360 014652
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N

REG ADDRESS AND COMMON TAGS
.SBITL REG ADDRESS AND COMMON TAGS

VECTC2:

VECTDZ

D0

"WORD ABASE  :>NO
"WORD ABASE+2 :>PATCHES
-WORD E" :
"WORD AVECT1 ;>ALLOWED
JWORD AVECT1+4 ;
JWORD AVECT1+10
JWORD AVECT1+14
"WORD  ABASE+10
JWORD ABASE+12
s

-WORD 293

JWORD 674

JVE

"WORD AVECT1+2
JWORD AVECT1+6
"WORD AVECT1+12
"WORD AVECT1+16
"WORD AVECT1422
-WORD AVECtloig
"WORD AVECT1+
"WORD AVECT1+36

2

.BYTE g

"BYTE

BYTE &

"BYTE s

BYTE 9.

BYTE  12.

BYTE 12.

-BYTE s

"BYTE

BYTE 6

BYTE 6

BYTE

-BYTE

"BYTE

"BYTE

BYTE 2

1 2

WARNING IF DEVICE # IS AT DIFFERENT ADDRESS OR VECTOR
NOT PATCH THESE LOCATIONS = SEE PROGRAM DOCUMENTATION.

<;CONTROL AND STATUS REGISTER.
<:DATA REGISTER.
:ADDRESS RESERVED FOR

USE
<;VECTOR ADDRESS.

>HERE! <;VECTOR ADDR. +4.

CTOR ADDRESSES +2 LOCATIONS.

;NOTE: DO NOT ATTEMPT TO PATCH
THESE_LOCATIONS IF A VECTOR
VARYIES ,  ALTER LOCATION
"SVECT1:",

IF_TEST MODULE VECTOR IS
DIFFERENT,YOU MUST CHANGE

LOCATION “VECTAZ2:*'.
:85 USEC %OW FACTOR
:0 (PDP=-11)
;1 (PDP=-11/04)
:; (PDP-11/05)
:3 (POP-11/20)
;4 (PDP-11/40)
:5 (PDP-11/45)
:9 (PDP=11/70)
:7_(PDP=)
:10 (PDP-11/ g) «« DEFAULT VALUE #+
:11 (PDP=-11/23)
:1; (PDP=11/34)
:13 (POP=11/)
;14 (PDP=11/)
:15 (PDP=-11/)
:19 (PDP=11/)
17 (PDP=11/)

SEQ 0021
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13-DEC-82 09:29

CVvIBAB.P11

=38

212 001460

(1)

(1) 001460 012706 001100

(1) 001464 005026

(1) 001 022702 001140

(1) 001472 00137

8 ; 001474 012706 001100

(1) 001500 012737 010426 000020

(1) 001506 012737 000340 0000

(1) 001514 012737 010120 0000

(1) 001522 012737 000340 8%83

(1) 001530 012737 %31 73

(1) 001536 012737 340 0000

(1) 001544 012737 012750 000024

(1) 001552 012737 000340 000026

(1) 001560 005037 001160

(1) 001564 005037 001162

(1) 001570 112737 001115

(1) 001576 012737 001576 001106

8?; 001604 012737 001 001110

(2)

(2) 001612 013746

(2) 001616 012737 091 652 000004

(2) 001626 012737 177570 001140

(2) 001632 012737 177570 001142

(2) 001640 022 177777 177272

8; 001646 001012

(2) 001650 000403

(2) 001652 012716 001660

(2) 001656 ;

(2) 001660 012 000176 001140

(2) 001666 012737 0001764 001142

g; 001674 012637

(2) 001700 005037 001176

(2) 001704 132737 200 001211

(2) 001712 001403

(2) 001714 012737 001212 001140

(2) 001 72%
13 001722 012737 000300 00002
14 001730 012737 000300 0000;6
15 721736 012737 000300 0000
16 001744 012737 000300 000026
17 001752 012737 8&3’1 26 000004
}g 001760 012737 000006
20 001766 013737 001244 001362

221 001774 81 3737 001%62 831

222 002002 062737 000002 001

PROGRAM START
.SB1TL PROGRAM START

START:
.SBTTL INITIALIZE THE COMMON TAGS
:;CLEAR THE COMMON TAGS (SCMTAG) AREA
MOV #$CMTAG,R6 2sFIRST LOCATION TO BE CLEARED

CLR (R6) + ;CLEAR MEMORY LOCATION
cHP #SUR,R6 ;;DONE?
UE =6 ::LOOP BACK IF NO

#STACK , SP :;SETUP THE STACK POINTER

::xunmm A FEW VECTORS
#3S oniwor c :-xor CTOR FOR SCOPE ROUTINE

nov #340, W fOTVEC+2 ;:LE v
#SERROR amm:sc v;croa FOR ERROR ROUTINE
MoV cmuémvw ..uven.

oV #$TR m c’s FTRA TRAP vecroa FOR TRAP CALLS
#SPWYRDN m!

MOV vsc ::mn FAILURE VECTOR

MOV mo FPURVEC+ sLEVEL 7

CLR nis :INITIALIZE NUMBER OF ITERATIONS

CLR ..cu.e AR THE ESCAPE ON emoa ADDRESS
MOVB n .ssmx SALLOW ONE ERROR PER

MOV n sn.mn .-.-mrm.ue THE LOOP msss FOR SCOPE

MOV ETUP THE ERROR LOOP ADDRESS
::SIZE FOR A nmpws AE SUITCH REGISTER. IF NOT FOUND OR 1T IS
;EQUAL TO A 1., SETUP FOR A SOF TWARE SUITCH REGISTER.

MOV SAVE ERROR VECTOR

RRVEC,=(SP) ;; VE
MOV ms SFERRVEC  ::SET UP ERROR VECT
MOV #DSWR, SWR S:SETUP FOR A SWICH amsm
MOV m:sﬁ.oxsmv SSAND A HARDWARE DISPLAY REGIST
CMP #-1,3S6R $:TRY TO REFERENCE MARDWARE sa
BNE S BRANCH IF NO TIMEOUT TRAP OCCURRED

S:AND THE HARDWARE SWR IS NOT = =1

BR 5% S:BRANCH IF NO TIMEOUT

648: om #65$, (SP) $3SET UP FOR TRAP RETURN

658: MOV #SUREG, SWR ::POINT TO SOFTWARE SWR
MOV msmés DISPLAY
668: MOV (SP)+, 3#ERRVEC ; sRESTORE ERROR VECTOR

CLR $PASS ssCLEAR PASS COUNT
BITB  #APTSIZE,SENVM ..TEST USER SIZE llDER APT
BEQ 679 YES,USE NON-APT

SWITCH
MoV #$SSWREG, SWR ..M.USE APT SWITCH REGISTER
MoV 0300.107%(0 ;LOWER PS TO LEVEL 6 FOR FALCON CPU
MOV +EMTVEC+ o . -
MOV . TRAPVEC+2
' vEc.Z " L] L1

67%:

MOV notﬁo ERRVE .sev TO HANDLE BUS ERRORS.
MOV #200,ERRVEC+

MOV $BASE, IBS ;GET BASE ADDR.

MOV 18S, 16D SFIX DATA BUFFER=

ADD #2,180 $CSR+2

SEQ 0022
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CVIBAB.P11 E Cg&’ 09329

23 002010 O1 1
26 16 7 e 001
25 & 4 1
9 7 137
4 137
8 7 137
56 013737 461
0020% 13737 1461
1 0020 13737 1404
535 002076 065 14 001 logl-
g‘ 002106 013737 001374
234 002112 06; 7 881 374
235 0051 20 013737 1376
236 00 1%2 7 137
%37 88%1 013737 14
38 1462 7 14
39 002122 013737 001410
40 00%1. 06% 7 141
2641 00 1% 013737 141
5”3 0051 86;;;7 141
002200 013737 14614
sll:lf: 002206 062737 001414
log 002214 013737 001416
47 002222 737 001416
48 002230 013737 001420
249 002236 737 001420
250 002244 013737 001422
251 002252 7 381452
252 002260 013737 14264
253 002266 7 001 65‘
002%4 013737 001426
255 002 5 7 001426
256 002310 013737 0014
£ g ey ge G
8 Sent ik Qe s
002340 013737 001434
1 002346 737 001434
%gz 002354 013700
3 002360 042700
264 364 116037 001436
&
(1) 002372 013777 001416 176772
g ; 002400 012777 004700 177010
(1) 002406 013777 001420 176760
g‘ 002414 012777 004700 176776
(1) 002422 013777 001422 176746
g a 002430 012777 004700 176764
(1) 002436 013777 001424 176734
(1) 002444 012777 004700 176752

23 PAGE_3-1
INITIALIZE THE COMMON TAGS

ADD #2,18uC

MOV 1guc 1BCA

ADD § xégA

MOV svg T1,VECTA  :GET VECTOR ADDR.
BIC ¥i 5006 VECTA  :STRIP JUNK
MOV 18S,18SA

MOV 18D, 1BDA

MoV 1882, 18D2

ADD 82,1

MOV VECTA,VECTB

ADD #4,VECTB

MOV VECTB,VECTC

ADD #4,VECTC

MOV VECTC,VECTD

”"% VESTD
MOV VECTA2,VECTB2

#4,VECTB2
vsémzfvsctcz

sSET UP VECTOR+2 ADDRESSES.

ADD 2% veg C
MOV VECTC2,VECTD2
ADD #4,VECTD2
MOV VECTA,PRA
% 5o

ADD #4 ,PRB

MOV PRB.PR

ADD #6,PRC

MOV PRC,PRD
ROV &‘e?ﬁ%!mz
333 guzuz PRB2
ADD #4,PRB2

MOV  PRC2,PRD2
RSTART : nov ;'c' mzao
" BIC n%

RO
MOVE  CPUSPD(RO),CPUDLY

MOV  PRA,QVECTA
#6700, 3PRA

R

MOV  PRC,aVECTC
MOV #4700,9PRC

MOV ”9 VECTD
#4700,8PRD

sGET CPU TYPE
sMASK OFF ANOTHER BITS
sGET DELAY FACTOR

s /=RESV~
:/RESTORE VECTOR FOR
:nugw INTRO.

/-RESV=
;/RESTORE VECTOR FOR
:/xu.gcu. INTRO.

s /=RESV~
;/RESTORE VECTOR FOR
:/ILLEGAL INTRO.

/-RESV=
:/RESTORE VECTOR FOR
:/ILLEGAL INTRO.

SEQ 0023
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1 ngg 09:39 TYPE PROGRAM

CVIBAB.P11 SEQ 0024
F14) .SBTTL TYPE PROGRAM NAME
(1) ::TYPE THE NAME of THE PROGRAM IF FIRST PASS
(1) 882452 005227 177777 INC :sFIRST nm
(1) 005223 001041 BNE ug anmc
(1) 104401 002526 TYPE YPE ASC!Z smus
(2) .SBTTL en vu.ué rga SOF TWARE s&hcu REGISTER
(2) 002 005737 000042 ST and :sARE WE RUNNING UNDER XXDP/ACT?
(2) 002470 oo1o1; BNE 668 $:BRANCH IF YES
2) oozg‘z, 123727 001210 000001 CMPB  SENV.M $:ARE WE RUNNING UNDER APT?
(2) 002 80"'0? BEQ ::BRANCH IF YES
(2) 002502 023727 001140 000176 CMP SWR, #SWREG .-.sorrwte SWITCH REG SELECTED?
(2) 002510 001005 BNE 678 :BRANCH IF NO
(2) 002512 104406 GTSWR $:GET SOFT=SWR SETTINGS
(2) 002514 000403 B8R 678
g; 885;}2 112737 000001 001134 gg:: MOVE  #1,$AUTOB ;:SET AUTO-MODE INDICATOR
(1) 00252¢ 000416 BR 648 GET OVER THE ASCIZ
(1 ::658: .ASCIZ <CRLF>#CVIBAB mviu DIAGNOST I C#<CRLF>
(1) 002562 : 648:
272 002562 000005 RESET
273 002564 004537 010100 as.oaso :DELAY FOR RESET PULSE TO FINISH
274 002570 001000 1ooo <SO THAT ANY ERROR MESSAGES ARE NOT TRASHED>
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CVIBAB.P11 1 c98 0939 «TEST THE ADDRESSABILITY OF THE 18S, 18D REGISTERS SEQ 0025
277 il ' 3 QttttttttttttttttttttttttttttttttCttttttttttt.tttttt.ttt'tttttt
(3) : S*TEST 1 «TEST THE ADDRESSABILITY OF THE IBS, IBD REGISTERS
(3 it e e e LA A A A L R DA L A L LA LAl Ll
(2) 335572 ;«9 tér1:  NOP
&} 576 01 7; mg 88"32 MOV #50,$TIMES ..oo 50 ITERATIONS
517% 002602 012737 1 MOV #1$,SLPADR ::SET SCOPE LOOP ADDRESS
279 002610 012737 1 001102 MOV #1,$TSTNM :SET TEST M.
seo 002616 012737 1 001174 MOV #1.STESTN :DON'T FORGET APT!

235 002626 012737 002632 001110 MOV #1$,SLPERR
283 002632 oml.g 000004 1$: MOV ERRVEC,=(SP) - :SAVE CONTENTS OF ADDR. 4
284 002636 012737 002664 000004 MOV #2$ ,ERRVEC <SET TIME-OUT TRAP VECTOR TO HANDLE
285 :IN CASE WE TIME OUT WHEN
ggg :WE ADDR. THE IBV=-11
%aa 002644 005777 176512 ST alBs ADDR THE IBS, IF NO RESPONSE,
89 uxu TRAP T0 28 FROM HERE
0 002650 012737 002672 000004 MoV #3$,ERRVEC SCHANGE FOR ADDRESSING THE 18D REG.
292 002656 005777 176502 ST alBD ;ADDR THE IBD REG.
| 293 SWE'LL TRAP TO 3$ FROM HERE IF BAD.
296 002662 000406 BR 4$
295 002664 28:
% 002664 062706 000004 ADD #4,SP :/ADD #4 TO STACK POINTER.
::9888888888>>> ERROR <<<$$$5353$58S
(1)
(1) 002670 104005 ERROR S s /MODULE FAULT DETECTED:
297 <185 REGISTER COULD NOT BE
298 sADDRESSED
;1888858888844 ERROR ~~*$$3353$3$$
300 002672 3s:
% % 002672 062706 000004 ADD #4,SP :/ADD #4 TO STACK POINTER.
::9888888888>>> ERROR <<<$$$$$3$83$
(1)
(1) 002676 104005 ERROR S :/MODULE FAULT DETECTED:
302 :ADDRESSED
:$$8$888888°** ERROR ~~~$3$$3333$$
ggg 002700 012637 000004 48: hov (SP)+,ERRVEC mtm CONTENTS OF LOC 4.
(1) 0027064 012746 000000 MOV #0,-(SP) -/ser CPU PRIORITY ON RETURN
(1) 002710 012746 002716 MOV w’.s -(SP) HOW RETURN ADDRESS
(1) 002714 000002 RTI -/cmss A RETURN (PUTS NEW STATUS
(1) 002716 64$: :/7IN STATUS REG.)

313
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uu‘\ﬁ
=D b
b W

&:uau
Y8R N

002716
002

002726
002732
002740

002744
002752

720 01%737

0137
01273

005777

012737
005777
0

002756 000407

002760
002760

002764

002766

005770
002770

002774

002776

062706

104005

000403

062706

104005

012637

;23(193%) 23-FEB-83 08: 2; PAGE 6

«TEST THAT BAS

N2
E ADDRESSES +4,+6 RESPOND WHEN ADDRESSED

PR ARANARANRAARANARC AR ARARNANENANAAAAACACANARAAAGACOTOANES

THAT BASE ADDRESSES +4,+6 RESPOND WHEN ADDRESSED
THE BASE ADDRESS +4 AND +6 ARE NOT USED,

°i7HE IBV11A SHOULD RESPOND TO THEM

tttt'.t.ttttt...i..tt'i.'t.t".'.ttt'titttt'.t.t'tttttt'.t.....

SETEST 2 «TEST
vtn 1
t§12:  SCOPE
000010 001160 MOV 710,87
oogom MOV ERRVEC
002760 000004 MOV #S$ ER
176422 ST aIBwC
002770 000004 MOV #28 ,ER
176412 TST 21BCA
BR 38
1$:
000004 ADD #6,SP
::955555858%5>>
ERROR S
BR
2%:
000004 ADD #4,SP
::9855855888>>
ERROR 5
; ;58588885884
00000« 38: MOV (SP)+,

IMES 3:00 10 ITERATIONS

-(SP) .snve CONTENTS OF ADDR &
RVEC ;SET TIME OUT TRAP vecma TO HANDLE

T WHEN WE
:ADDRESS THE 1BV=11 ADDRESSES +4,+
STEST BASE ADDRESS +4, IF NO RES ﬁonse
*WILL TRAP TO 1S FROM HERE

RVEC :CHANGE FOR ADDRESSING +6 ADDR.
;ADDR THE +6 ADDR. = TRAP IF BAD.
:CONTINUE IF GOOD.
:/ADD #4 TO STACK POINTER.

> ERROR <<<$$$5$535$3$

s/MODULE FAULT DETECTED:
;BASE_ADDR+4 COULD NOT
;BE ADDRESSED.

°°SSSSSS§=88“‘ ERROR ~**$$$$$3$33S

s/ADD #4 TO STACK POINTER.
> ERROR <<<$$$$3535$$

s/MODULE FAULT DETECTED:
;BASE ADDR+6 COULD NOT
:BE ADDRESSED.

* ERROR ***$3$553358$

ERRVEC sRESTORE CONTENTS OF LOC 4.

SEQ 0026




B 3
CVIBA-B HACV11 (1983) 25-FED°33 08: Zg PAGE

CVIBAB.P11 «TEST THAT IBS IS CLEAR AT INIT OF TESTING SEQ 0027
3‘5 itttttttttttttttttttttttt'ttttttttttttttttttttt'tttt'tttttttttt
(3) --tesr 3 «TEST THAT IBS IS CLEAR AT INIT OF TESTING
(3) o ttttttt!tttt.tttttttttttt'ttttttttttttt'tttttttttttt'ttt'tt"tt
(2) 003002 ooogge T3:  SCOPE
m 003004 012737 000001 001160 MOV #,STIMES ::00 1 ITERATION

g 003012 000005 RESET :ISSUE SYSTEM INIT.

9 003014 005037 oo11§g CLR $GDDAT :EXPECT ZERO CSR.

S0 003020 017737 176336 001126 MOV a18S,$8DDAT *READ CSR.
351 003026 001401 BEQ TST4 3
352

;:8888888888>>> ERROR <<<$$$3$3$3$$

(1
(1) 003030 104003 ERROR 3 :/MODULE FAULT DETECTED:
353 :1BS NOT CLEAR ON INT.
- ::8888888888°** ERROR ~~*$$3$$3$3$$
356 33 ttttttttttttttttttttttltttttttttttttttttttttttttttttttttttttt't
(3) STEST 4 «TEST THAT IBD IS CLEAR AT INIT OF TESTING
(3) 3 ttttﬁt.tttttttttttttttttttttttttttttttttttttttttt'ttﬁtttttttttt
(2) 003032 000004 t8T4:  SCOPE
g; 003034 012737 000001 001160 MOV #1,STIMES ::00 1 ITERATION
ggg 003042 000005 RESET :I1SSUE SYSTEM INITIALIZE.
ggo 003044 005037 001124 CLR $GDDAT :EXPECT ZERO CSR.

1 003050 117737 176310 001126 MOVE  @18D,SBDDAT *READ DBR
362 003056 001401 BEQ TSTS ::
363

::9888888%888>>> ERROR <<<$$$$33$$3$

(1
(1) 003060 104004 ERROR & ;/MODULE FAULT DETECTED:
364 ;18D NOT CLEAR ON INIT.

::$85588$8888°“* ERROR ~~*$335$5$33S




CVIBA-B MACY
CvIBAB.P11

003106

003110

003112
003120

003122

104006

000405

017737
001401

104006

000010

001124
176264

176252

ggg) 25-FEB-83 08: 23 PAGE 8
13-DEC

c 3
*TEST THAT I8D IS CLEAR AT INIT OF TESTING

tttttttttltttt..t'tt'it'tt*'ittt.ttttittttﬁtt.t'..t"t'.ttttt't

-rtsr S

'BASE ADDRESS +4 AND +6 SHOULD RETURN A ZERO WHEN
*READ. IN THIS TEST WE WILL TRY THAT.

t'.Qt!tt.t.tttttttttt'*t't't'ttt.ti..t'...'.'tt.'tt.ttttt'tttti

$815:
001160

001126

001126 18:

SCOPE

MoV #10,STIMES ::D0 10 ITERATIONS
CLR $GDDAT sEXPECT ZERO RETURN
MoV 91B8WC,SBODAT :READ BASE ADDRESS*‘
BEQ 1 :IF ZERO -

::3888888888>>> ERROR <<<$$$$3838S$

ERROR 6 s/MODULE FAULT DETECTED:
:SHOULD HAVE READ BACK ZERO FROM
:THIS ADDR.

6k$8$3333832‘“‘ ERROR “‘SSSSSSSS‘S

MoV @1BCA,$BDDAT sREAD BASE ADDR+6, SHOULD BE ZERO
BEQ TST6 HH

::$$88888888>>> ERROR <<<$$$535835$$

ERROR 6 s/MODULE FAULT DETECTED:
sSHOULD HAVE READ BACK ZERO FROM
:BASE ADDR+6.

; ;3558588888 ERROR ~~*$335553353S

*TEST THAT BASE ADDRESSES +4,+6 RETURN ZERO WHEN READ

SEQ 0028




CVIBA-B MACYN ggg(lgsg) 25-FEB-83 08:
CviBAB.P1 15-DEC 09:29
39
2
(2) 003126 000004
1 5077 176230
88§1§§ 8? 777 000001 176222
003140 012737 002001 8811 4
003146 017737 176210 1126
400 003154 023737 001126 001126
401 003162 000402
402
(1)
(1) 003164 104003
403
282 00316¢ 000412
407 003170 042777 1 176164
408 003176 005037 001124
409 003202 017737 176154 001126
410 003210 001401
on
(1
(1) 003212 104003
12
414
415
(3)
(3)
ff; 003214 000004
417 003216 005077 176140
418 003222 052777 000002 176132
419 003230 012737 000002 001124
420 003236 017737 176120 001126
421 003244 023737 001126 001126

(
(1) 003254 104003

23 PAGE 9
«TEST THAT WE CAN SET TCS (BIT20), TCS SETS CMD (BIT10)
"tlttttti!ttttttttttttttQttt.tttttttt'tti.ttttttt'tt'ttttttQ.Q'Q
SeTEST 6 *TEST THAT WE CAN SET TCS (BIT00), TCS SETS CMD (BIT10)
Q.tttttttttttttttttttQ'Q'Qtt.t'ttt't'it'tttttt'ttttttl.t.t't"'
t8r6:  SCOPE
CLR alss m CLR
8IS #8170,318 TCS.
MOV #8110! amo moﬁr emct ONLY TCS AND CMD TO SET
MOV 318S,$BDDAT :READ THE IBS.
CMP $GDDAT, SBDDAT -oxo TCS AND CMD SET?
BR 13 SYES = CONTINUE
::98888838888>>> ERROR <<<$3$$53535$$
ERROR 3 :/MODULE FAULT DETECTED:
“TCS AND/OR CMD FAILED TO SET
;358588388344 ERROR ***$53535353$
[ iaaaaas 44 -
18: BIC mro alBs ;CLEAR TCS.
CLR DAT SEXPECT TCS AND CMD TO CLEAR
gg ?ga; ,SBDDAT am 18S, DID THEY CLEAR?

t.ttttt.ttttt'..t'..'Qi".tt'.'QQ't'.ﬁttt.'ttﬁ...ti.'i'.t..ttl!

TST?

'TEST 7 «TEST THAT EOP (BITO1) WILL SET
e e o e e e e L AL DL A DL Ll
SCOPE
CLR a18s CLEAR CSR.

::9888838888>>> ERROR <<<$$33353358$S

ERROR 3 s/MODULE FAULT DETECTED:

:TCS AND/OR CMD FAILED TO CLEAR.
; ;358888838844 ERROR “~*$33533333S

8IS #8171,318S

:SET EOP
MOV #BIT1.SGDDAT  :EXPECT ONLY EOP TO SET.
MOV aIBS,$BDDAT

:READ 1BS
CMP SGDDAF $BODAT  :DID EOP SET?
BEQ 1$ sYES = CONTINUE

::$885888888>>> ERROR <<<$$$35$353S

ERROR 3 s/MODULE FAULT DETECTED:

;EOP BIT SETTING ERROR.
;:$$85$88888°** ERROR ~**$$$555555$

SEQ 0029




CVIBA-B HACYll
CvIiBAB.P1N

003256
00

00

003

003302

003372

(lggg) ZS-FEB-OS 08: Z; PAGE 9-

000412

i

001401

104003

104003

000412

062777
005037
773

01
001401

104003

gg??g% 176074 18:
6064 001126

176050
000004

000004
176030
001126

176004
001126

tttttit.tti.tttQt.t.Q"Q'Qﬁt'.t.ti..ﬁt..tttt.itt'.i.".'.'..t.'

-resr 10 «TEST THAT REM (BIT02) WILL SET + CLEAR
tttttttttttttt.Qtt.tQ'i"tttt.ttttttttttttltttttttt.tt't.tt'.t'
t67110:  SCOPE
CLR alBs ;CLEAR CSR.
BIS #81702,318S :SET REM
MOV aaxtoz.ssooAt SEXPECT ONLY REM TO SET.
MOV 218S,$SBDDAT :READ IBS.
CMP SBDDAT,SGDDAT  :DID REM AND ONLY REM SET?
BEQ 1$ :YES = CONTINUE
::9$83888888>>> ERROR <<<$$$3535$S$
ERROR 3 :/MODULE FAULT DETECTED:
*REM BIT SETTING ERROR.
éksssssssss¥;~“ ERROR *+*$$3$$$5$5$
18: BIC uaxroz alBs ;CLEAR REM BIT.
CLR $GDDA :EXPECT ZERO CSR.

E 3
-resr THAT EOP (BITO1) WILL SET
BR TST10 33
BIC #B81T71,318S
CLR $GDDAT
MOV 218S,SBDDAT
BEQ 15110

sCLEAR EOP
EXPECT A ZERO CSR.
sREAD 18S, IS IT CLEAR?

;:9838888888>>> ERROR <<<$$$5835538$

ERROR 3 :/MODULE FAULT DETECTED:
-xas FAILED TO CLEAR

::$888888888°** ERROR ~~“$3$553535333$S

MOV alBS saooAt aeno 18S = IS IT CLEAR?
BEQ 1sT1i

::$888888888>>> ERROR <<<$$3553335S$$

ERROR 3 s/MODULE FAULT DETECTED:
:18S FAILED TO CLEAR.

SEQ 0030




CVIBA-B MC"‘I
CVIBAB.P11
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«TEST THAT IBC (BIT03) WILL SET AND CLEAR

3 Qt'ttit'Q'ttt.tt'..Q.Q"'i.t...tti't".t..t'iitt'it'ttt.t..'.tQ

S*TEST 11 «TEST THAT IBC (BIT03) WILL SET AND CLEAR

‘. ttttltt't.tt'.tt.'.t.Q'OQ'.Q.Q..Q"t".ﬁ.ttt't'tt.iQttt.i......

SCOPE
CLR a18$ 'CI.EM CSR.

8IS 08170 .818S SET _IBC

MoV $GDDAT .EXPECT ONLY IBC TO BE SET

MOV axes séow *READ 18S.
P seo $BODAT  :DID IBS SET?
BEQ 1$ SYES C

ONT INUE

MOV #B81703,318S STRY SETTING IBC AGAIN.
MOV alBs, séow SMEMORY REFRESH MIGHT HAVE
CMP ?go 2GOT IN THE WAY.

::3888888888>>> ERROR <<<$3$$$3$$83$

ERROR 3 :/MODULE FAULT DETECTED:
ms BIT SETTING ERROR.

BR TST12

JSR gs ,DELS0 ‘BELAY 150 us.

MOV mno'ano SGODAT :EXP CMD AND TCS.

MOV a18S,$BDDAT :READ IBS = IS IT CLEAR?

CMP $SGDDAT, SBDDAT

BEQ TST12 i3

::$888888888>>> ERROR <<<$$3$5383$$

ERROR 10 'IME FAULT OETECTED'
:18S CLEAR AFTER IBC
:DOES '‘SCPUOP'* mxwe ﬂf CORRECT CODE FOR THIS CPU ? OR
R T T e e L L I b
tTEST 12 *TEST THAT TON (BITO5) AND TKR (BIT09) SET AND CLEAR
nnn;z;g"ntnncunntntnnnntntnnnntnntnnn
CLR a18s CLEAII THE CSR.
8IS

mrs,amg
MOV #BITSIBIT ssoon? -exmr ONLY TON AND TKR TO SET.
s, $8DDAT :READ CSR.
:DID THEY BOTH SET?
BEQ 1 $YES = CONTINUE.

::8888888888>>> ERROR <<<$$3353553$

-

ERROR 3 s/MODULE FAULT DETECTED:
;ERROR IN SETTING TON BIT OR TKR BIT.

SEQ 0031




CVIBA=B MACY1
CviBAB.P1 1

493
L%

495
496
497
498
499

~ o~
e cundd
et e

003562 000412

7
00%593 88;777 00??60 175570 1§:
003576 01“ ; 175560 001126

003606 104003

(1063) 25-FEB-83 08:23_ PAGE 10-1
Cgag 09:29 e

«TEST THAT TON (BITO5) AND TKR (BIT09) SET AND CLEAR
6§8338383888“‘ ERROR “‘3833888833

CLR
8EQ

3

0.

8IC lBlTSfallS sWHEN TON CLEARED. TKR SHOULD CLEAR.

;EXPECT ZERO CSR

$GDDA
MOV 3185, $BDDAT m IT CLEAR?
TsT1$

::$888888888>>> ERROR <<<$$5588558$

ERROR 3

s/MODULE FAULT DETECTED:
sCSR FAILED TO CLEAR.

; ;5588588888 ERROR “~*$$$535535S

SEQ 0032




H3
VIBA=B MACY11 (1063) 25-FEB-83 3_ PAGE 1
i " 1 ngz 09=g;F -

CVIBAB.P11 T3 -tesr THAT LON (BITO4) WILL SET AND CLEAR . SEQ 0033
4 ttt'.!t..t't'tttltt.tt'itt..ttiﬁtt't.'.ltl'tttt'...'tt't'tﬁttt.

(3) SeTEST 13 «TEST THAT LON (BITO04) WILL SET AND CLEAR

( ) . '"Q'ttlttt.t.tt'ttt.tit..'.Q.Q'Q'!.'.tt'.'t.t..tt.ttt.ﬁtt.ti..Q

) 1g t§113: SCOPE

1 175544 CLR ales -cl.m THE CSR.
16 052777 20 175536 8IS nm ms :SET

50 ssg 12737 001124 MOV -emcr ONLY LON TO BE SET.

508 003632 017737 175524 001126 MOV ams iaow :READ CSR

509 003640 023737 001124 001126 P SGDDAT,SBODAT  :DID THEY BOTH SET ?

g}g 001402 BEQ 1$ ::YES = CONTINUE
::9858888838>>> ERROR <<<$$353533838$S

M

(1) 003650 104003 ERROR 3 :/MODULE FAULT DETECTED:

512 *ERROR IN SETTING LON BIT
;838883888844 ERROR ***$53535353$

514 003652 ooo%; B8R TST14

515 003654 042 oooo?o 175500 18: BIC #B1T4,318S SUMEN LON CLEARED, LNK SHOULD CLEAR

516 003662 005037 0011 CLR $GDDAT :EXPECT ZERO CSR

517 003666 017737 1754.0 001126 MOV 218S,$BDDAT :m IT CLEAR ?

g}g 003674 001401 BEQ TST14 $:YES = CONTINUE
::$888888888>>> ERROR <<<$$35535$3$

(1

(1) 003676 104003 ERROR 3 :/MODULE FAULT DETECTED:

520 “CSR FAILED TO CLEAR LON BIT

;9885858888 ERROR ~~“$3355$533$




13
CVIBA-B HACVII (1983) Zg;FEB-OS 08: 23 PAGE 12

CVIBAB.P11 «TEST THAT IE (BIT06) SET AND CLEAR SEQ 0034
3 33 ttttttt.tttQ.Qt"t'tt'.Q't.t't..t'.'.ti.'t'.".ﬁt...QQQ.'QQ.Q'Q
3 SeTEST 14 «TEST THAT IE (BIT06) SET AND CLEAR
( ) o 't'tl....tttti'tt.tt.t't'tt't'ttt'.tttt....tt.....".t't'!'.'t'.
( z 003700 000004 t§114: SCOPE
5 /PR
m 12746 sgg;oo MoV 3og ,=(SP) -/ssr CPU PRIORITY ON RETURN
(1 1 74.3 1% MOV #64S.=(SP) /SHOW RETURN ADDRESS
(1) 71 RTI $7CAUSE A RETURN (PUTS NEW STATUS
& 714 648: :/IN STATUS REG.)
2 ; 003714 005077 175442 CLR alss ;CLEAR CSR.
ggg 003720 052777 000100 175434 BIS mro.ms ;SET IE.
003726 012737 000100 001124 MOV 6.SGDDAT  :EXPECT ONLY BIT 6 TO SET.
531 003734 017737 175422 001126 MOV ams iaom :READ 1BS.
ss<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>